GPS 4122 2 7|0

31
fofo
40

2022.11.16



he 2k}
o0

1. A&

—

2. GPS CNAV HA|X| £ =

3. GPS CNAV2 A X] L=

4.GPS LEHN O F=2 95 &4

5. 22



M4l
s

CCL

oill

100
X0
ok
M4

x

K|O

KIr

al
=x

AL O
&=

Al

+ 59| &2 HO[&

=
10

100

iof
I

M

-
H

h

7

- J7|E GPSAIE L2C/L5

ke

= L1C: LDPC

A
(B

o0

ol
oR

M
a1

ol 2R HO|F=2| 85 &

=

(1) ¢ GPS



------------ DIRECTION OF DATA FLOW FROM SV ======snmsunauuaas MSB FIRST ====ns=mnmmmaa—
————————————————————————————————————————————————————————— 100 BITS == o e e e e e
a8
1 9 15 21 39
MESSAGE
PaRN . TOW COUNT MESSAGE
8 BITS BITS BITS 17 BITS 62 MSBs
MESSAGE TYPE ID
PREAMELE
“ALERT" FLAG - 1 BIT
------------ DIRECTION OF DATA FLOW FROM SV ====nnanuacacaaaas MSB FIRST ==-mammmmmmmmmmas
————————————————————————————————————————————————————————— 100 BITS == e e e e e e e e
— ~ S
CNAV : Tl 7l HE|
- = - =
(L2M 3, L5M D)
BITS 63-162
el
St M| A|X| : 300 bits
------------ DIRECTION OF DATA FLOW FROM SV ======nnmncanacas MSB FIRST ====mmmmnmmaaaee
--------------------------------------------------------- 100 BIT S = o e e e e e e e e
201 277
MESSAGE CRC
76 LSBs 24 BITS

Figure 4.3.1-1 CNAV(L2C_L5) Message Configuration
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Table 4.3.1-1 Maximum Transmission Intervals

Maximum Maximum
Niéssage Date Format Transmission Transmission Remarks
(Message Type ID) Interval of L2C Interval of LS
(seconds) (seconds)
SV clock Types 30 to 37. 61 48 24
Ephemeris Types 10 and 11 48 24
Group delay Type 30 288 144
Ionospheric parameter 144
(wide area) Bype 30 Zhh
Ionospheric parameter Type 61 188 144
(Japan area)
QZS reduced almanac Type 12 or 31 1200* 600* Max. 9 QZSs
QZS Midi almanac Type 37 7200* 3600* Max. 9 QZSs
Earth orientation 900
g Type 32 1800
UTC parameter Type 33 288 144
GGTO Type 35 288 144
Text message Type 15 - - Not specified
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